

Pay Estimate Created Date: June 17, 2024

Progress Estimate N 5	umber		240216-F04 N.B. West Contrac	ting Comp			Original Contract Amount Net Change Order Amount Current Contract Amount	\$211,796.55			
Approval Date								By User			
June 17, 2024	Generated and Approved (and should be considered Draft) at the Project Office Level by										
June 18, 2024			Reviewed and App	roved (and	d should be considered Dra	aft) at the Re	esident Engineer Level by	REDHAC			
June 18, 2024				Reviewe	wed and Approved at the Central Office Controllers Office Level by						
Original Completion	n Date	Current Co	mpletion Date	Act	ual Completion Date	% c	of Current Contract Amount	Complete			
November 1, 2024 Novem			er 1, 2024				71.74%				
	Contrac	t Informational Dat	tes		Milestones						
Date Description	Original	Completion Date	Current Completion Date		No Milestones Exist for (Contract					
Acceptance Date											
Awarded Date	March 6,	2024	March 6, 2024								
Letting Date	February	/ 16, 2024	February 16, 2024								
Notice to Proceed Date	tice to Proceed Date April 8, 2024 April 8, 2024										
Open to Traffic Date											
Work Began Date	April 13,	2024	April 13, 2024								

Contract Total Pay For Estimate No. 5

Contract Total Payable This Estimate:	\$32,515.10		
		<mark>\$1,972,116.56</mark>	\$2,004,631.66
Other Contract Adjustmen	ts \$0.00	\$0.00	\$0.00
Liquidated Damage	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Incentive	\$0.00	\$0.00	\$0.00
Gross Item Adjustments	\$0.00	(\$4,222.99)	(\$4,222.99)
Total Posted Items Pay	<mark>\$32,515.10</mark>	\$1,976,339.55	\$2,008,854.65
240216-F04			
	This Estimate	Previous	To Date

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J6S3369	0140	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	LF	\$25.000	41	\$1,025.00
	0150	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.140	84,489	\$11,828.46
	0160	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.140	68,946	\$9,652.44
	0190	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	LS	\$1,500.000	0.5	\$750.00
	0260	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	LF	\$50.000	24	\$1,200.00
	0270	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.150	21,864	\$3,279.6
	0280	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.150	21,864	\$3,279.6
	0300	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	LS	\$1,500.000	1	\$1,500.00
Project J6S	3369 - Tota	ıl					\$32,515.1
Overall - To	tal						\$32,515.1

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J6S3369	0030	GRAVEL (A) OR CRUSHED STONE (B)	MaterialCredit			1,738	\$10.00	\$17,380.00



Pay Estimate Created Date: June 17, 2024

Progre		mate Number 5	Contract ID Prime Contra	Contract ID 240216-F04 Pay Period Start June 2, 2024 Original Contract Amount \$2,588,45 rime Contractor N.B. West Contracting Company Pay Period End June 15, 2024 Net Change Order Amount \$211,796 Current Contract Amount \$2,800,25								
Project Number	Line No.	Item Des	cription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount			
J6S3369	0030	030 GRAVEL (A) OR CRUSHE STONE (E		Material			-1,738	\$10.00	(\$17,380.00			
	0230		TACK COAT	Material			-2,233	\$2.50	(\$5,582.50			
	0230		TACK COAT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user mckinr1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	2,233	\$2.50	\$5,582.50			
	0270	WATERBORN	E STANDARD E PAVEMENT AINT, TYPE P BEADS	Material			-21,864	\$0.15	(\$3,279.60			
	0270	WATERBORN	E STANDARD E PAVEMENT AINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user mckinr1 overridding Payment Estimate Exception 5 on the current Payment Estimate.	21,864	\$0.15	\$3,279.60			
	0280	WATERBORN	V STANDARD E PAVEMENT AINT, TYPE P BEADS	Material			-21,864	\$0.15	(\$3,279.60)			
	0280	WATERBORN	V STANDARD E PAVEMENT AINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user mckinr1 overridding Payment Estimate Exception 7 on the current Payment Estimate.	21,864	\$0.15	\$3,279.60			
Total	· · · · ·								\$0.00			



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information	I						
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work							
J6S3369	IS 55-3(104)	Resurface	E, YY FRANKLIN on Route E from Gasconade Co. line to Route 100 near New Haven, and on Route YY from Route Y to Route 185 near										
otals by .	Job Numbe	rs											
J6S3369		d Item Pay Item Adjustmo		Item Pay	This Estimate \$32,515.10 \$0.00 \$32,515.10	Previous \$1,976,339.55 (\$4,222.99) \$1,972,116.56	To Date \$2,008,854.65 (\$4,222.99) \$2,004,631.66						
					\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00						



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J6S3369, Item 3105003, Project Item Line Number 0030, Material Set 310500396, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	Still waiting on QC aggregate testing.	mckinr1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J6S3369, Item 4020520, Project Item Line Number 0060, Material Set 402052096, Material 1015ACPG5828 - PG 58-28 Performance Graded Asph Binder, Acceptance Action Generic 1015ACPG5828 is insufficient.	Checklist is clear	mckinr1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3369, Item 4071005, Project Item Line Number 0230, Material Set 407100596, Material 1015EASS1H - Emulsified Asphalt SS-1H, Acceptance Action Generic AspEmulsion is insufficient.	Checklist is clear	mckinr1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3369, Item 6206000C, Project Item Line Number 0150, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient.	Waiting on reflectivity testing	mckinr1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3369, Item 6206000C, Project Item Line Number 0270, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient.	Waiting on reflectivity testing	mckinr1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3369, Item 6206001C, Project Item Line Number 0160, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	Waiting on reflectivity testing	mckinr1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3369, Item 6206001C, Project Item Line Number 0280, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	Waiting on reflectivity testing	mckinr1	Overridden

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Contract Im.CONTRACT	Project No.	Category	Line No.	ltem Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See report generated date)
0216-F04	J6S3369	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$55,000.00	\$0.
		0001	0020	2159910	MISC.SHAPING SLOPES CLASS III - MODIFIED MATERIAL REQUIREMENT	16.00	0.00	16.00	100F	0.00	\$1,400.00	\$0.
		0001	0030	3105003	GRAVEL (A) OR CRUSHED STONE (B)	1,738.00	0.00	1,738.00	SQYD	1,738.00	\$10.00	\$17,380.
		0001	0040	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	3,878.40	-258.65	3,619.75	TONS	3,619.75	\$90.00	\$325,777.
		0001	0050	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	3,400.80	178.13	3,578.93	TONS	3,578.93	\$90.00	\$322,103.
		0001	0060	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	6,497.90	271.43	6,769.33	TONS	6,769.33	\$95.00	\$643,086.
		0001	0070	4071005	TACK COAT	13,348.00	1,899.00	15,247.00	GAL	15,247.00	\$2.50	\$38,117
		0001	0080	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$0.01	\$0
	0001 0090 6133020			6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	622.90	859.08	1,481.98	TONS	1,481.98	\$160.00	\$237,116
		0001	0100	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	3,853.00	3,998.10	7,851.10	SQYD	7,851.10	\$12.00	\$94,213
		0001	0110	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	4.00	0.00	4.00	EA	4.00	\$3,200.00	\$12,800
		0001	0120	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.90	\$11,490.00	\$10,341
	0001			6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$55,000.00	\$55,000
		0001	0140	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	60.00	0.00	60.00	LF	41.00	\$25.00	\$1,025
		0001	0150	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	124,915.00	0.00	124,915.00	LF	84,489.00	\$0.14	\$11,828
		0001	0160	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	97,276.00	0.00	97,276.00	LF	68,946.00	\$0.14	\$9,65
		0001	0170	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	76,966.00	0.00	76,966.00	SQYD	76,966.00	\$2.00	\$153,93
		0001	0180	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,356.00	308.00	1,664.00	SQYD	1,664.00	\$10.00	\$16,64
		0001	0190	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$1,500.00	\$1,50
		0002	0200	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$10,000.00	\$
		0002	0210	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	2,765.20	0.00	2,765.20	TONS	0.00	\$90.00	\$
		0002	0220	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	1,835.00	0.00	1,835.00	TONS	0.00	\$100.00	\$
		0002	0230	4071005	TACK COAT	5,079.00	0.00	5,079.00	GAL	2,767.00	\$2.50	\$6,91
		0002	0240	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.90	\$7,960.00	\$7,16
		0002	0250	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$35,000.00	\$35,00
		0002	0260	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	31.00	0.00	31.00	LF	24.00	\$50.00	\$1,20
		0002	0270	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	27,468.00	0.00	27,468.00	LF	21,864.00	\$0.15	\$3,27
		0002	0280	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	27,468.00	0.00	27,468.00	LF	21,864.00	\$0.15	\$3,27
		0002	0290	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	33,924.00	0.00	33,924.00	SQYD	0.00	\$2.00	\$
		0002	0300	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$1,500.00	\$1,50
		0002	0310	9031210	STRUCTURAL STEEL POSTS	50.00	0.00	50.00	LB	0.00	\$10.00	\$
		0002	0320	9031250A	U-CHANNEL POST, 3 LB	414.00	0.00	414.00	LF	0.00	\$20.00	\$
		0002	0330	9031280	2.5 IN. PSST POST - 12 GA.	340.00	0.00	340.00	LF	0.00	\$22.00	\$
		0002	0340	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	26.00	0.00	26.00	EA	0.00	\$300.00	\$
		0002	0350	9035004A	SH-FLAT SHEET	101.00	0.00	101.00	SQFT	0.00	\$23.00	\$
		0002	0360	9035069A	SHF-FLAT SHEET FLUORESCENT	387.00	0.00	387.00	SQFT	0.00	\$26.00	9
		0002	0370	9039902	MISC.PLUMB EXISTING SIGN POST AND STUB	1.00	0.00	1.00	EA	0.00	\$100.00	\$
		0010	0380	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	750.00	0.00	750.00	LF	0.00	\$34.00	\$
		0010	0390	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	0.00	\$3,400.00	\$
		0040	0400	9031210	STRUCTURAL STEEL POSTS	210.00	0.00	210.00	LB	0.00	\$10.00	\$
		0040	0410	9031250A	U-CHANNEL POST, 3 LB	946.00	0.00	946.00	LF	0.00	\$20.00	\$
		0040	0420	9031280	2.5 IN. PSST POST - 12 GA.	1,031.00	0.00	1,031.00	LF	0.00	\$22.00	\$
		0040	0430	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	81.00	0.00	81.00	EA	0.00	\$300.00	\$

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240216-F04	J6S3369	0040	0440	9035004A	SH-FLAT SHEET	746.00	0.00	746.00	SQFT	0.00	\$23.00	\$0.00
		0040	0450	9035011A	ST-STRUCTURAL	18.00	0.00	18.00	SQFT	0.00	\$32.00	\$0.00
		0040	0460	9035069A	SHF-FLAT SHEET FLUORESCENT	821.00	0.00	821.00	SQFT	0.00	\$26.00	\$0.00
		0040	0470	9039902	MISC.PLUMB EXISTING SIGN POST AND STUB	7.00	0.00	7.00	EA	0.00	\$100.00	\$0.00
		0040	0480	9039902	MISC.REMOVE AND RELOCATE GROUND MOUNT SIGN	2.00	0.00	2.00	EA	0.00	\$250.00	\$0.00
	Project Je	6S3369 - To	tal Value	Posted to D	ate as of Report Generated Date							\$2,008,854.6
240216-F04 Overall - Total Value Posted to Date as of Report Generated Date											\$2,008,854.65	



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	ltem Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0140	6200015	PREF THERMO PVMT MARK, 24 IN WHIT	6/14/24	6/17/24	10.00	LF	LT of CL	237+48				Rte. YY Federal Funded Section
				6/17/24	12.00	LF	RT of CL	404+26				Rte. YY Federal Funded Section
				6/17/24	19.00	LF	RT of CL	572+40				Rte. E
0150	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	6/14/24	6/17/24	33,207.00	LF	RT & LT of CL	237+48		404+26		Rte. YY Federally Funded Section
				6/17/24	51,282.00	LF	RT & LT of CL	572+40		315+70		Rte. E
0160	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	6/14/24	6/17/24	30,811.00	LF	LT & RT of CL	237+48		404+26		Rte. YY Federally Funded Section
				6/17/24	38,135.00	LF	LT & RT of CL	572+40		315+70		Rte. E
0190	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKI	6/3/24	6/3/24	0.50	LS	LT & RT of CL	112+40		572+70		Rte. E from 112+40 to 572+70 Rte. YY from 237+48 to 404+26
0260	6200015	PREF THERMO PVMT MARK, 24 IN WHIT	6/14/24	6/17/24	12.00	LF	LT of CL	100+30				Rte. YY Non-Federally Funded Section
				6/17/24	12.00	LF	RT of CL	236+85				Rte. YY Non-Federally Funded Section
0270	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	6/14/24	6/17/24	21,864.00	LF	LT & RT of CL	100+30		236+85		Rte. YY Non-Federally Funded Section
0280	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	6/14/24	6/17/24	21,864.00	LF	LT & RT of CL	100+30		236+85		Rte. YY Non-Federally Funded Section
0300	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKI	6/3/24	6/3/24	1.00	LS	LT & RT of CL	100+15		236+92		Rte. YY Non-Federally Funded Section

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 3/23/2023



Line Item Adjustments by Estimate

Contract ID: 240216-F04

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3369	0030	GRAVEL (A) OR CRUSHED STONE (B)	Material		2	May 2, 2024	SYSTEM	\$17,380.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user kochk overridding Payment Estimate Exception 1 on the current Payment Estimate.
					2	May 2, 2024	SYSTEM	(\$17,380.00)	
					3	May 16, 2024	SYSTEM	\$17,380.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user mckinr1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	May 16, 2024	SYSTEM	(\$17,380.00)	
					4	Jun 3, 2024	SYSTEM	(\$17,380.00)	
					5	Jun 17, 2024	SYSTEM	(\$17,380.00)	
				- Total				(\$34,760.00)	
			Material - Tota					(\$34,760.00)	
			MaterialCredit		5	Jun 17, 2024	SYSTEM	\$17,380.00	
				- Total				\$17,380.00	
			MaterialCredit					\$17,380.00	
	0030 -	Tetel	MaterialCreuit	- 10tai					
			Oth on the m	4040	0	May 40	an a bin ad	(\$17,380.00)	
	0040	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	Other Item Adjustment	ACAD		May 16, 2024	mckinr1	(\$1,401.76)	
								(\$1,401.76)	
			Other Item Ad	justment - To	tal			(\$1,401.76)	
	0040 -	Total						(\$1,401.76)	
	0050	BIT. PAVEMENT MIXTURE PG64-22 (BP-2)	Other Item Adjustment	ACAD		Jun 3, 2024	mckinr1	(\$2,885.51)	
		. ,		ACAD - Tota				(\$2,885.51)	
			Other Item Ad	justment - To	tal			(\$2,885.51)	
	0050 -	Total						(\$2,885.51)	
	0060	BITUMINOUS PAVEMENT MIXTURE	Material		2	May 2, 2024	SYSTEM	\$449,280.65	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user kochk overridding Payment Estimate Exception 2 on the current Payment Estimate.
		PG64-22 (SUR			2	May 2, 2024	SYSTEM	(\$449,280.65)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
			Other Item Adjustment	ACAD	3	May 16, 2024	mckinr1	(\$1,644.80)	
				ACAD - Tota	al			(\$1,644.80)	
			Other Item Ad	justment - To	tal			(\$1,644.80)	
			Overrun	Overrun	3	May 16, 2024	SYSTEM	(\$25,785.85)	
					4	Jun 3, 2024	SYSTEM	\$25,785.85	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',95.00000 - 95.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	0060 -	Total						(\$1,644.80)	
	0070	TACK COAT	Material		2	May 2, 2024	SYSTEM	\$4,137.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user kochk overridding Payment Estimate Exception 4 on the current Payment Estimate.
					2	May 2, 2024	SYSTEM	(\$4,137.50)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0070 -	Total						\$0.00	
	0090	FURN & PLACE	Other Item	ACAD	3	May 16,	mckinr1	(\$575.92)	
	0000	BIT. MATL FOR	Adjustment		-	2024		(\$010.02)	



Line Item Adjustments by Estimate

Contract ID: 240216-F04

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3369	0090	CL C PARTIAL	Other Item Adjustment	ACAD - Tota	al			(\$575.92)	
			Other Item Ad	justment - To	otal			(\$575.92)	
			Overrun	Overrun	2	May 2, 2024	SYSTEM	(\$4,756.80)	
					3	May 16, 2024	SYSTEM	(\$132,696.00)	
					4	Jun 3, 2024	SYSTEM	\$137,452.80	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',160.00000 - 160.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	0090 -	Total						(\$575.92)	
	0100	REMOVAL FOR CLASS C	Overrun	Overrun	2	May 2, 2024	SYSTEM	(\$3,348.00)	
		PARTIAL DEPTH PAVT REPAIR			3	May 16, 2024	SYSTEM	(\$44,629.20)	
					4	Jun 3, 2024	SYSTEM	\$47,977.20	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',12.00000 - 12.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota					\$0.00	
	0100 -	Total						\$0.00	
			0	0	0	Maria	OVOTEM		
	0180	MODIFIED COLDMILLING (DEPTH	Overrun	Overrun	4	May 2, 2024	SYSTEM	(\$3,080.00)	I lait mine keeped on evenerated evenus adjustments for installed eventity on all
		TRANSITIONS)			4	Jun 3, 2024	STOTEM	\$3,060.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',10.00000 - 10.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	0180 -	Total						\$0.00	
	0230	TACK COAT	Material		4	Jun 3, 2024	SYSTEM	\$5,582.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user mckinr1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					4	Jun 3, 2024	SYSTEM	(\$5,582.50)	
					5	Jun 17, 2024	SYSTEM	\$5,582.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user mckinr1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					5	Jun 17, 2024	SYSTEM	(\$5,582.50)	
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	0230 -	Total						\$0.00	
	0270	4 IN. WHITE WATERBORNE PAVEMENT	Material		5	Jun 17, 2024	SYSTEM	\$3,279.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user mckinr1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
		MARKING			5	Jun 17, 2024	SYSTEM	(\$3,279.60)	
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
	0270 -	Total						\$0.00	
	0280	4 IN. YELLOW WATERBORNE PAVEMENT	Material		5	Jun 17, 2024	SYSTEM	\$3,279.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user mckinr1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
		MARKING			5	Jun 17, 2024	SYSTEM	(\$3,279.60)	
		- Total			\$0.00				
		Material - Total						\$0.00	
	0280 -	Total						\$0.00	
	0380	MGS	Construction		3	May 16	SYSTEM	\$12,165.00	Payment Estimate Item Adjustment generated Stockpile Transaction
	0000	1000	Construction		3	way iu,	STOTLIVI	ψ12,100.00	rayment Estimate tem Aujustment generated Stockpile Transaction



Line Item Adjustments by Estimate

Contract ID: 240216-F04

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3369	0380	GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	STMI			2024			
				- Total				\$12,165.00	
			Construction Stockpile STMI - Total					\$12,165.00	
	0380 - Total							\$12,165.00	
	0390	TYPE A CRASHWORTHY END TERMINAL (MASH)	Stockpile STMI		3	May 16, 2024	SYSTEM	\$7,500.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$7,500.00	
			Construction Stockpile STMI - Total					\$7,500.00	
	0390 - Total							\$7,500.00	
J6S3369 - Total							(\$4,222.99)		
Overall - Total							(\$4,222.99)		



There are no contract adjustments to display for this contract.